Bangladesh Railway Assistant Station Master Exam Question Solution 2018
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OR. Write the opposite gender of the following-

Drake- Duck

Bee-Drone

9O, Write the Adjective and Adverb of Noun Obligation-

Adjective-obligated or obliged

Adverb- obligatorily

O 8. Write the synonym of the word Instigate- initiate

€. The boy reads a book. What kind of verb of reads in the sentence. — Transitive verb
OV, What s the antonym of satiety — Hunger

Q. Whatis the meaning of soft soap- use flattery in order to persuade (W)
ob. The news will shock you. Make it passive. You will be shocked by the news.

O®. Make it positive: Zakir is the most brilliant of all student in the class.- No other student is so

brilliant as Zakir in the class. Or, (Very few students in the class are as brilliant as Zakir)

0. Make the sentence simple: He is poor but he is honest.- In spite of his poverty he is honest.
. Every mother loves her child change into negative- There is no mother but loves her child
. Fill in the blank: | do not feel ——Rahman. — For

QO. Correct the sentence: All of the men | have ever met, he is the rudest.-To all of the men | have

ever met, he is the rudest

8. Make the sentence indirect: He said to them, ” Friends, help me.- He requested to them help him.



€. Translate into English: % IO wIG ﬂ:‘é_{ 65|q5| ;IE. Y| - Someone Knocked on

the door just middle in the night.
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